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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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The difference between simple and
compound interest (compounded

annually) on a sum of money for 2 =y
years ater annum is m E

The in\Rs.) is: 39T 6-% 9T

ay Y\ 3aT 2 | & fav

HTYRYT 4151\ 3R THgefa sare

(ATATT Thdaid) & T &1 240
AT gl O HAUST (3 A) FT \
gham ? 6 -+ 7§
A) 44000 «&)KL/X‘G B) 50300 |

C) 5400 % D) none



compound and _SL.

. |
received at 125 % per annum

after@ears is Rs 1000 , then

what ~ will have been the
principal (in Rs) amount? ¢ 3

aﬂ*mu%uﬁ'faifr
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If the between F 37(37(3 SIS O\\%O



- 2 (Line Method Method)

If the compound interest
received at 12% % per annum
after 3 years is Rs‘ 1085), then
what will have een the
principal (in Rs) amount? J7¢ 3

aﬁa;inau % 9fad a¥ WX
saTst 1085 ¥ B, ar

:(auw! (¥ #) & ahi?/
A) 1600 ) 2560
C) 1700 D) 1800
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The difference between simple and
compound interest (compounded
annually) on a sum of money fc QL

years at 15% per annum is mv/g( wﬁ
The sum (in Rs.) is: 3MT15
aiaﬁtat#msma:

( AT azrc[aﬁr ¥ i am/ﬁo’?

1701 dl Jaud (¥ - |
mzhn? ( :

A) 24000 B) 30300
C) 2400 D) 3030 ¢
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If compound interest for the@

years is 320 rupees . while-rate of
compound interest is( 14 %o per 9
annum . then find the Pprincipal

amount? Jf¢ WY a¥ & AT
zgzzggﬁb' SOt 320 IT9Y §I

THaG Y TS T X 14
“o ufer a¥ ¥ R @ R A=

dhﬁafti//
1715 1680
1600 1700

P= 1*7/“ S/S\

G
‘
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Find the sum of money on which
difference between Cl & SI for

3'd_year isat the rate of
per annum? dg§ SR

W16§%9f?r
(a) 12120 (b) 151X

d g¥ & T Cl
(c) 14120 (d) 13120 yg J

(e) None of these
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Find the sum of money on which 0 (O
difference between ClI & Sl for ’7 = BN 398 ¥

@ ear is 3400 at the rate of
22% per annum? dg Wlﬁl'

m ;
W 12- \/K‘* ,
g bty ok | e :
Cl SI - @
3400 27 O
(a)12120 (b) 15120 \/E\ )%(60 \

(c) 14120 (d) 13120 9\
(e) None of these /

L E s










